1.

the-g Aste] (h o (1) o B Pk,

(7}) 400 x 60
(L) 502 700 9] &

>
> ®eh 59000

(7}) 400 x 60 = 24000
(1) 50 x 700 = 35000
wHebA, (71 +(Hh= 24000 + 35000 = 59000




2.

ge

15000

P

ul
&0

al

500 x 30 = 15000()




3.

A

=

2
6

tlo

T2 o]k AQIA] I2A|Q,

oo
Mo

=
K3

@D 547 x 48 ©] 32 26375 YUYt
@ 623 x 727} 630 x 83 H.o} FUt}
@338 x 56> 56 x 338 2 A4toto . 2 k2 Zh5 Ut

@ Al & )% (5 = 40) o Akl AR A= (A A
F)x (2 42 Ao = ) 9] Aty

(® 803 x 40 = 32120 °lA4] 321202] 0 -2 803 2] A 2] 22| s=2}el
0 T L2 AdYrt.

B

@D 547 x 48 = 26256

@ 623 x 72 = 44856 7} 630 x 83 = 52290 H.t} Z T},

@ (Al 2] F)x (F 2 ) o] ALte] AR A=
Al 2 )% (F 242 9] 49| &9 47) o Alhtoltt.

® 803 x 40 = 32120 °1 A 32120 2] 0-2 40 2] L o] =] S}l
0 ofZoll tr2 AHolrt.




& 5 A4 237 10000 ) 7HE 717k
@ 400 x 20 @ 50 x 170
@223 x 47 ® 520 x 36

e of

®

B

@ 8000
@ 8500
@ 13230
@ 10481
® 18720




0= & At Ba7E 718 22 A9 ALt AiE 242
@ 683 x20 © 356 x 50 © 488 x 30

Ch "
| —

>
> Hehl 13660

B

@ 13660
© 17800
© 14640
upetA] 7H 22 22 @ 13660 O[Tt




2620 1% T Al 5004 o BT Tk 7 e At
Baskn @ Ak dEu

® 1247 30 @287 204 @ 1344 307

@ 13742}, 2074 ® 1247}, 4070

620 + 50 = 12---20
T AAtE 122837 S AL 20707 Esy o




67 =20

OREEEY

® & 3011, YA 79y
@)57 + 403} Yol A e ZH,

67 YUt

AEHH 20x 3+ 7

® A4

o
17

57+40=1--

[ap)
I
=
[a\l
-l
I~
Nej




8. 7017} 340m 9 7] ol 20m BHOR 7fRSE 0T gy
oh. 29 43t Bl Ak, hEst BE ¥ 0571 DRy
__TL




7 18 B9 BE A temol 1, AL B 182 Bt 2
+ 7121 835m JU . A7t 27+ ot 24, YAl AAE
Bl FREY BF 241 ARG ATt ol )t A e ¥ m A
TSP 2.

» =

> HE: 79707m

=

—EB :
ZAolA 7+ A7 1 76 x 27 = 2052m
AAAE B 7 AJ7E
o AZE - R — gL A
27 AE EfaL 7F A9 : 835 x 93 = 77655m
Z o5 A 1 2052 + 77655 = 79707 (m)




10.

675L 9] FAE 20L5o0] Ho] B o] goay

2ol % 7 glofo} Tz

® 334 (@)34‘% ® 35

675+20 = 33---15
33 ¥5taL 15L 7} 97] g
D99ty = 341 oJr}.




